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(2x + 7) · (5x− 8) · (x2 + 1) = 0

Damit das Produkt Null ist, muss einer der Faktoren Null sein:

2x + 7 = 0 oder 5x− 8 = 0 oder x2 + 1 = 0

x = − 7
2 x = − 8

5 x2 = −1

L1 = {− 7
2 } L2 = {− 8

5 } L3 = ∅

Und damit: L = {− 7
2 ,− 8

5 }

a)

(x + 4)(x2 − 4) = 0

Damit das Produkt Null ist, muss einer der Faktoren Null sein:

x + 4 = 0 oder x2 − 4 = 0
x = −4 x2 = 4

Und damit: L = {−4,−2, 2}.

b)

x3 − 2x2 + x = 0
x(x− 1)2 = 0

Damit das Produkt Null ist, muss einer der Faktoren Null sein:

x = 0 oder x− 1 = 0

Und damit: L = {0, 1}.

c)

x · (x + 6) = −9 |+ 9
x2 + 6x + 9 = 0

(x + 3)2 = 0
x = −3

d)
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